%Single Choice (1~15, 5% each) (#4575 — j&, EHE L L, F482 F®04)

1.
Find the domain of the function f(x)= 21 "
X+

Select the correct answer.
(A) (-0,0) (B) (—»,1] (C) [1L,o) (D) [0,1] (E) none of above.

2.
Find the range of the function f(x)= 21 [
X+

Select the correct answer.
(A) (—o0,0) (B) (0,1) (©) [0,1) (D) (0, 1]  (E)none of above.

3, =
Find the limit, lim = !
Rd X —

=9
Select the correct answer.
1
(A) O B) 1 ©) 2 (D) 5 (E) .
4, sin x

Find the limit, lim

X—>®© X

=7

Select the correct answer.

(A) 0 (B) 1 (C) 2 (D) % (E) .

5. Which of the following function is continuous on (—o0,®)?
Select the correct answer.

1
A) sin(%) ® ~— (© 1

5 (D) Inx  (E) none of above.
x+1

6. 3
Let f(x)= x—.’ x # 0.Find the value of f(0) sothat f(x) iscontinuousatx=0.
X —sin x
Select the correct answer.

(A) -1 B) 0 ©) 2 (D) 4 (E) 6.

Find j—xsin(?ax) =7?

Select the correct answer.

(A) cos(3x) (B)—cos(3x)  (C)3cos(3x) (D)—3cos(3x)  (E)none of above.

Find i(x Inx)="?
dx

Select the correct answer.
(A) nx (B) x+Inx C) I+Inx (D) xInx  (E) none of above.



10.

11.

12.

13.

14.

15.

If f(x)=g(h(x)),and h(3)=3, g'(3)=2,and A'(3) =4, find the value of f'(3).
Select the correct answer.
(A) 6 B) 8 <) 12 (D) 24 (E) none of above.

Jlnxdx:?

Select the correct answer.
(A)xInx+C B)xlnx+x+C (C)lnx+C (D)xlnx—x+C (E)none of above.

If f(0)=1, f(1)=3and f'(1)=35, find the value of f;xf"(X)dx.

Select the correct answer.
(A) 0 B) 1 <) 2 (D) 3 (E) 4.

1
3
J._l ‘x ‘ dx =7 Select the correct answer.

A 0 @B 1 (C©) 2 (D) 3 (E)none of above.

1
I 1 x’dx =? Select the correct answer.

A 0 @B 1 (C) 2 (D) 3 (E)noneofabove.

Iff(x):'[: N1+1t° dt, find the value of f'(2).

Select the correct answer.
(A)V/65 (B) 4465 (C) 12 (D) 0  (E)none of above.

The position of a particle is given by the equationS = f(¢) =t —12¢> +36¢, where S is
measured in meters and ¢ in seconds. When is the particle at rest?

Select the correct answer.
(A) t=0,2 (B) t=0,4 (C) t=2,4 (D) t=2,6 (E) t=4,6 .

3Multiple Choice(16~20,5% each)(% 4% > - P /&S, R 2 FHE LA, HAFHE04)

16.

Consider the function f(x)=e . Select the correct statements.
(A) f(x)=0 forevery xe(—oo,00).

(B) f(x) iscontinuous on (—o0,0).

(C) f(x) isdifferentiable on (—o0,0).

(D) lim f(x) does not exist.

X—>0

(E) lirré f(x) does not exist.



17.

18.

19.

20.

Which of the following functions are continuous on (-, ) ?

(A) f(x)=x
(B) f(x)=]x]|

© f)=1

X
(D) f(x)=sinx
(E)  f(x)=Inx

Which of the following functions are differentiable on (—oc, ) ?
(A flx)=x
B) f(x)=|x|

© fx)=2

X
(D)  f(x)=sinx
(E) f(x)=Inx

1
Which of the following functions have the property_[ B f(x)dx=07?
A) f(x)=x
(B)  f(x)=]x]

©)  f(x)=x
(D) f(x)=sinx
(E) f(x)=x"sinx

Let ¢ beaconstantand f(x) and g(x) be differentiable functions.

Which of the following equalities are correct?

(A) %(cf(x))w%f(x)
d d d
B) “L(/(0+ ()= [0+ g

d d d
©) E(f(x)'g(x))Zaf(X)'ag(x)

d
4 f@, g
dx g(x)

(D)

d
ag(x)

4y =21n-L
(B)  —— (/) =2/(x)—-/(x).



ANSWER

1 2 3 4 5 7 10
A D D A C C D
11 12 13 14 15
D E A B D

16 17 18 19 20

A, B, C A,B,D A, D A,D,E A, B, E




